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Given A Graph Practice

1. Every day Chester runs the same number of miles. The graph below represents
the relationship between the number of days and the total number of miles that

Chester has run.
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How many miles will Chester have run after 12 days? cQﬁ madan
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The graph below represents the amount of money Earnest earns mowing
lawns. _ . .-
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% 3. The graph of the line/y = 2xm drawn on the coordinate grid below.
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Which table of ordered pairs contains only points on this line?

A. -2 1K B -1 2\ C 2 1 A @ -
0 3 3 0 0 3 0 3 Y
I 5 5 1 1 5 1 5
3 9 7 2 2 7 2 7

;&- 4, Which line graphed below best represents the table of values for the
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A 5, Which situation could be represented by the graph below?

@ If a babysitter charges $6 per hour, how A
much would she earn for x hours? 10 ]
g
B. If it takes 6 hours to spend $1, how Iong will ¢ I
it take to spend x dollars‘?@\ *;‘ , .
g o | &
C. If a landscape company chargesg\?»o plus 2 B¢ “(‘ J(”) | o [O
$6 per hour to mow your yard, how much % 5
would they charge for a job that takes x 5 A l
hours? 25 A lo e E ’
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D. If it costs $6.to travel 1 miles, how much 7 l
will it cost to fravel x miles? ,‘!
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Q ) 8. The graph below shows the stopping distance for a certain car, depending
on the speed of the car when the brakes were applied.
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If the car needed 210 feet to stop, approximately how fast was the car

traveling?

A, Between 40 and 50 miles per hour
Between 50 and 60 miles per hour

C. Between 60 and 70 miles per hour

D. Between 70 and 80 miles per hour
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Jj__ 7. The graph of the equation y @is shown below.
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Which table of values best represents ordered pairs on the graphed
equations?




Name:

Date: Period:

(5 8. The graph below shows the growth rate of a human fingermail.

Fingernait Growth

Y

10“

8
)

= 7
m |

cs 8

520,
o2 E

EOQ= 4

L E 3[-
o

5

1

:"

Based on the information in the g
of millimeters a fingernail grows i

A. 3.1 mm

3.6 mm
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25 days
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4.1 mm

D. 4.6 mm

A 9.  Which table matches the graph below?
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{_~10. Which coordinates match the graph below?

A. (1D 0) (80, 2) (60, 4) (40, 6)
B. (/*1( 100) (2, 80) (3, 60) (6, 40)

0, 100) (2.780) (460) (6,740)
D. (0, 100) (I, 80) {8, 60) {4, 40)

é 11.  Which equation matches the graph below?




